

## Approximation of Generalized Bernstein Operators

Xiru Yang<sup>1,\*</sup>, Chungou Zhang<sup>1</sup> and Yingdian Ma<sup>2</sup>

<sup>1</sup> School of Mathematical Sciences, Capital Normal University, Beijing 100048, China

<sup>2</sup> Department of Information Administration, The Central Institute for Correctional Police, Hebei 071000, China

Received 26 December 2013; Accepted (in revised version) 24 February 2014

Available online 30 June 2014

---

**Abstract.** This paper is devoted to study direct and converse approximation theorems of the generalized Bernstein operators  $C_n(f, s_n, x)$  via so-called unified modulus  $\omega_{\varphi^\lambda}^2(f, t)$ ,  $0 \leq \lambda \leq 1$ . We obtain main results as follows

$$\omega_{\varphi^\lambda}^2(f, t) = O(t^\alpha) \iff |C_n(f, s_n, x) - f(x)| = O((n^{-\frac{1}{2}} \delta_n^{1-\lambda}(x))^\alpha),$$

where  $\delta_n^2(x) = \max\{\varphi^2(x), 1/n\}$  and  $0 < \alpha < 2$ .

**Key Words:** Bernstein type operator, Ditzian-Totik modulus, direct and converse approximation theorem.

**AMS Subject Classifications:** 41A25, 41A27, 41A36

---

## 1 Introduction

Let  $C(I)$  be the class of all continuous functions defined on  $I = [0, 1]$ . A generalized Bernstein operator first introduced in [1] is defined by

$$C_n(f, s_n, x) = \frac{1}{s_n} \sum_{i=0}^n \sum_{j=0}^{s_n-1} f\left(\frac{i+j}{n+s_n-1}\right) p_{n,i}(x), \quad x \in I, \quad (1.1)$$

where

$$p_{n,i}(x) = \binom{n}{i} x^i (1-x)^{n-i}, \quad f(x) \in C(I),$$

and  $\{s_n\}$  is a sequence of natural numbers.

---

\*Corresponding author. Email addresses: 123yangxiru@163.com (X. R. Yang), zhangcg@mail.cnu.edu.cn (C. G. Zhang), mayingdian@yahoo.com.cn (Y. D. Ma)

Obviously, if  $s_n = 1$  ( $n = 1, 2, \dots$ ), then  $C_n(f, s_n, x)$  degenerates into the well-known Bernstein operators

$$B_n f(x) = \sum_{k=0}^n f\left(\frac{k}{n}\right) b_{nk}(x), \quad b_{nk}(x) = \binom{n}{k} x^k (1-x)^{n-k}, \quad (1.2)$$

for a given  $f(x)$  on  $I$ .

For Bernstein operators, Ditzian has established the following direct theorem of approximation in [2]

$$|B_n f(x) - f(x)| \leq C \omega_{\varphi^\lambda}^2\left(f, \frac{\varphi^{1-\lambda}(x)}{\sqrt{n}}\right), \quad (1.3)$$

where  $\omega_{\varphi^\lambda}^2(f, t)$  is the unified modulus which will be defined in the next section.

When  $\lambda = 0$ , (1.3) degenerates

$$|B_n f(x) - f(x)| \leq C \omega^2\left(f, \frac{\varphi(x)}{\sqrt{n}}\right),$$

which is a pointwise approximation result; and when  $\lambda = 1$ , (1.3) degenerates

$$|B_n f(x) - f(x)| \leq C \omega_{\varphi}^2\left(f, \frac{1}{\sqrt{n}}\right),$$

which is a global approximation result. Since (1.3) incorporates the pointwise and global approximation theorems of Bernstein operators, it is a very interesting estimate. Later in 1998, an inverse theorem of approximation for Bernstein operators in the following form was present in [3].

$$|B_n f(x) - f(x)| = \mathcal{O}\left((n^{-\frac{1}{2}} \varphi^{1-\lambda}(x))^\alpha\right) \iff \omega_{\varphi^\lambda}^2(f, t) = \mathcal{O}(t^\alpha). \quad (1.4)$$

In this paper, we will establish the same result as (1.4) for the operators  $C_n(f, s_n, x)$  defined in (1.1), but it must be restricted the sequence  $\{s_n\}$  to be bounded.

## 2 Preliminary

We start with notation. Let  $\delta_n^2(x) = \max\{\varphi^2(x), 1/n\}$ ,  $\varphi^2(x) = x(1-x)$ ,  $\|f\| = \sup_{x \in I} |f(x)|$ , and denoting

$$\begin{aligned} \overrightarrow{\Delta}_h^2 f(x) &= f(x+2h) - 2f(x+h) + f(x), \\ \omega_{\varphi^\lambda}^2(f, t) &= \sup_{0 < h \leq t} \|\Delta_h^2 \varphi^\lambda f(x)\|, \end{aligned}$$

$$\begin{aligned} \Delta_{h\varphi^\lambda}^2 f(x) &= f(x+h\varphi^\lambda(x)) - 2f(x) + f(x-h\varphi^\lambda(x)), \\ K_{\varphi^\lambda}^2(f, t^2) &= \inf_{g \in D_\lambda^2} \{ \|f-g\| + t^2 \|\varphi^{2\lambda} g''\| \}, \\ \bar{K}_{\varphi^\lambda}^2(f, t^2) &= \inf_{g \in D_\lambda^2} \{ \|f-g\| + t^2 \|\varphi^{2\lambda} g''\| + t^{\frac{4}{2-\lambda}} \|g''\| \}, \end{aligned}$$

where

$$D_\lambda^2 = \{ f \in C_B(I) \mid f' \in A.C._{loc}; \|\varphi^{2\lambda} f''\| < \infty \},$$

$C_B(I)$  is the class of bounded continuous functions on  $I$  and  $A.C._{loc}$  is the space of local absolute continuous functions. In [4] it can be found that

$$\omega_{\varphi^\lambda}^2(f, t) \sim K_{\varphi^\lambda}^2(f, t^2) \sim \bar{K}_{\varphi^\lambda}^2(f, t^2).$$

Next we introduce some lemmas that are necessary in this paper.

**Lemma 2.1** (see [5]). *For  $f \in C(I)$ ,  $0 < \alpha < 2/(2-\lambda)$ ,  $0 \leq \lambda \leq 1$ , we have*

$$\omega_{\varphi^\lambda}^2(f, t) = \mathcal{O}(t^\alpha) \implies \omega_1(f, t) = \mathcal{O}(t^{\alpha(1-\frac{\lambda}{2})}), \tag{2.1}$$

where

$$\omega_1(f, t) = \sup_{0 < h \leq t} \{ |f(x+h) - f(x)| : x, x+h \in I \}.$$

**Lemma 2.2** (see [3]). *Let  $0 \leq \beta \leq 2$ ,  $x \in (0,1)$ , then for  $0 < t < 1/4$ ,  $t \leq x \leq 1-t$ , there exists a constant  $C$  such that*

$$\iint_{-\frac{t}{2}}^{\frac{t}{2}} \varphi^{-\beta}(x+u_1+u_2) du_1 du_2 \leq Ct^2 \varphi^{-\beta}(x). \tag{2.2}$$

**Lemma 2.3.** *For  $f \in C(I)$ ,  $0 \leq \lambda \leq 1$ , there exists a constant  $C$  such that*

$$|\varphi^{2\lambda}(x) C_n''(f, s_n, x)| \leq Cn \varphi^{-2(1-\lambda)}(x) \|f\|. \tag{2.3}$$

*Proof.* By directly calculating, we have

$$C_n''(f, s_n, x) = \frac{n(n-1)}{s_n} \sum_{i=0}^{n-2s_n-1} \sum_{j=0}^{s_n-1} \left[ f\left(\frac{i+j+2}{n+s_n-1}\right) - 2f\left(\frac{i+j+1}{n+s_n-1}\right) + f\left(\frac{i+j}{n+s_n-1}\right) \right] p_{n-2,i}(x) \tag{2.4}$$

$$= \frac{n^2}{\varphi^4(x) s_n} \sum_{i=0}^n \sum_{j=0}^{s_n-1} f\left(\frac{i+j}{n+s_n-1}\right) \left[ \left(\frac{i}{n}-x\right)^2 - \left(\frac{i}{n}-x\right) \left(\frac{1-2x}{n}\right) - \frac{x(1-x)}{n} \right] p_{n,i}(x). \tag{2.5}$$

Therefore,

(i) if  $x \in [0, 1/n] \cup [1-1/n, 1]$ , then  $\varphi^2(x) \leq 1/n$ , by (2.4) we may get

$$|\varphi^{2\lambda}(x) C_n''(f, s_n, x)| \leq Cn^2 \varphi^{2\lambda}(x) \|f\| \leq Cn \varphi^{2\lambda}(x) \varphi^{-2}(x) \|f\| = Cn \varphi^{-2(1-\lambda)}(x) \|f\|.$$

(ii) if  $x \in (1/n, 1-1/n)$ , then by (2.5) we can reach

$$\begin{aligned} |\varphi^{2\lambda}(x)C_n''(f, s_n, x)| &\leq n^2 \varphi^{2\lambda-4}(x) \|f\| \cdot \sum_{i=0}^n \left[ \left| \frac{i}{n} - x \right|^2 + \left| \frac{i}{n} - x \right| \left| \frac{1-2x}{n} \right| + \left| \frac{x(1-x)}{n} \right| \right] p_{n,i}(x) \\ &=: I_1 + I_2 + I_3, \\ I_1 &= n^2 \varphi^{2\lambda-4}(x) \|f\| \sum_{i=0}^n \left| \frac{i}{n} - x \right|^2 p_{n,i}(x) = n^2 \varphi^{2\lambda-4}(x) \|f\| \frac{\varphi^2(x)}{n} = n \|f\| \varphi^{2\lambda-2}(x), \\ I_2 &= n^2 \varphi^{2\lambda-4}(x) \|f\| \sum_{i=0}^n \left| \frac{i}{n} - x \right| \left| \frac{1-2x}{n} \right| p_{n,i}(x) \leq n \varphi^{2\lambda-4}(x) \|f\| |1-2x| \left\{ \sum_{i=0}^n \left( \frac{i}{n} - x \right)^2 p_{n,i}(x) \right\}^{\frac{1}{2}} \\ &= n \|f\| \varphi^{2\lambda-2}(x) \frac{|1-2x|}{\varphi(x)\sqrt{n}}. \end{aligned}$$

Noting that, If  $n \geq 3$ ,  $x \in (1/n, 1/2)$ , then

$$\frac{|1-2x|}{\varphi(x)\sqrt{n}} \leq \frac{1-2x}{\sqrt{1-x}} \leq \sqrt{2}.$$

If  $n \geq 3$ ,  $x \in (1/2, 1-1/n)$ , then

$$\frac{|1-2x|}{\varphi(x)\sqrt{n}} \leq \frac{2x-1}{\sqrt{x}} \leq \sqrt{2}.$$

Hence there is a constant  $C$  such that

$$I_2 \leq Cn \|f\| \varphi^{2\lambda-2}(x).$$

As for  $I_3$ , it is easy to get that

$$I_3 = n^2 \varphi^{2\lambda-4}(x) \|f\| \sum_{i=0}^n \left| \frac{x(1-x)}{n} \right| p_{n,i}(x) = n \|f\| \varphi^{2\lambda-2}(x).$$

That completes the proof. □

**Lemma 2.4.** For  $f'' \in C[0,1]$ ,  $0 \leq \lambda \leq 1$ , there exists a constant  $C$  such that

$$|\varphi^{2\lambda}(x)C_n''(f, s_n, x)| \leq C \|\varphi^{2\lambda} f''\|.$$

*Proof.* By (2.2) and (2.4), we have

$$|\varphi^{2\lambda}(x)C_n''(f, s_n, x)| = \left| \varphi^{2\lambda}(x) \frac{n(n-1)}{s_n} \sum_{i=0}^{n-2s_n-1} \sum_{j=0}^{n-2s_n-1} \Delta_{\frac{1}{n+s_n-1}}^2 f\left(\frac{i+j}{n+s_n-1}\right) p_{n-2,i}(x) \right|$$

$$\begin{aligned}
 &= \left| \varphi^{2\lambda}(x) \frac{n(n-1)}{s_n} \sum_{i=0}^{n-2s_n-1} \sum_{j=0}^{n-2s_n-1} \iint_{-\frac{1}{2(n+s_n-1)}}^{\frac{1}{2(n+s_n-1)}} f'' \left( \frac{i+j}{n+s_n-1} + u+v \right) dudv p_{n-2,i}(x) \right| \\
 &\leq \| \varphi^{2\lambda} f'' \| \left| \varphi^{2\lambda}(x) \frac{n(n-1)}{s_n} \sum_{i=0}^{n-2s_n-1} \sum_{j=0}^{n-2s_n-1} \iint_{-\frac{1}{2(n+s_n-1)}}^{\frac{1}{2(n+s_n-1)}} \varphi^{-2\lambda} \left( \frac{i+j+1}{n+s_n-1} + u+v \right) dudv \cdot p_{n-2,i}(x) \right| \\
 &\leq \| \varphi^{2\lambda} f'' \| \varphi^{2\lambda}(x) \left| \frac{n(n-1)}{s_n} \sum_{i=0}^{n-2s_n-1} \sum_{j=0}^{n-2s_n-1} \frac{1}{(n+s_n-1)^2} \varphi^{-2\lambda} \left( \frac{i+j+1}{n+s_n-1} \right) p_{n-2,i}(x) \right| \\
 &=: \| \varphi^{2\lambda} f'' \| \varphi^{2\lambda}(x) k,
 \end{aligned}$$

and

$$\begin{aligned}
 K &= \frac{n(n-1)}{s_n} \frac{1}{(n+s_n-1)^2} \left| \sum_{i=0}^{n-2s_n-1} \sum_{j=0}^{n-2s_n-1} \left[ \frac{1}{\frac{i+j+1}{n+s_n-1} \left( 1 - \frac{i+j+1}{n+s_n-1} \right)} \right]^\lambda p_{n-2,i}(x) \right| \\
 &\leq \frac{n(n-1)}{s_n} \frac{1}{(n+s_n-1)^2} \left| \sum_{i=0}^{n-2s_n-1} \sum_{j=0}^{n-2s_n-1} \left[ \frac{(n+s_n-1)^2}{(i+1)(n-i-1)} \right]^\lambda p_{n-2,i}(x) \right| \\
 &= \frac{n(n-1)}{(n+s_n-1)^2} \frac{(n+s_n-1)^{2\lambda}}{n^{2\lambda}} \left| \sum_{i=0}^{n-2} \left[ \frac{1}{\frac{i+1}{n} \left( 1 - \frac{i+1}{n} \right)} \right]^\lambda p_{n-2,i}(x) \right| \\
 &= \frac{n(n-1)}{(n+s_n-1)^2} \frac{(n+s_n-1)^{2\lambda}}{n^{2\lambda}} \left| \sum_{i=0}^{n-2} \varphi^{-2\lambda} \left( \frac{i+1}{n} \right) p_{n-2,i}(x) \right| \\
 &\leq C.
 \end{aligned}$$

Thus we obtain that

$$\left| \varphi^{2\lambda}(x) C_n''(f, s_n, x) \right| \leq C \| \varphi^{2\lambda} f'' \| \varphi^{2\lambda}(x) \leq C \| \varphi^{2\lambda} f'' \|.$$

That proves this lemma. □

**Lemma 2.5.** For  $x \in (0, 1)$ ,  $t \in [0, 1]$ , we have

$$\int_x^t \frac{|t-u|}{\delta_n^{2\lambda}(u)} du \leq C \frac{|t-x|^2}{\delta_n^{2\lambda}(x)}.$$

*Proof.* This Lemma results from Lemma 2.4 [6] and  $\delta_n^2(x) \sim \varphi^2(x) + 1/n$ . □

### 3 Main results

**Theorem 3.1.** For  $f(x) \in C[0, 1]$ ,  $0 \leq \lambda \leq 1$ , there exists a constant  $C$  such that

$$\left| C_n(f, s_n, x) - f(x) \right| \leq C \left( \omega_{\varphi^\lambda}^2 \left( f, \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}} \right) \right) + \omega_1 \left( f, \frac{1}{n} \right).$$

*Proof.* From [1], we can get without difficulty

$$C_n(1, s_n, x) = 1, \quad C_n(t-x, s_n, x) = \frac{s_n-1}{n+s_n-1} \left( \frac{1}{2} - x \right),$$

$$C_n((t-x)^2, s_n, x) = \frac{n-(s_n-1)^2}{(n+s_n-1)^2} \varphi^2(x) + \frac{(s_n-1)(2s_n-1)}{6(n+s_n-1)^2}.$$

Let

$$L_n(f, s_n, x) = f\left(x + \frac{s_n-1}{n+s_n-1} \left(\frac{1}{2} - x\right)\right) - f(x), \quad (3.1a)$$

$$A_n(f, s_n, x) = C_n(f, s_n, x) - L_n(f, s_n, x), \quad \|A_n\| \leq 3, \quad (3.1b)$$

$$L_n(f, s_n, x) \leq C\omega_1\left(f, \frac{1}{n}\right), \quad (3.1c)$$

$$A_n(t-x, s_n, x) = C_n(t-x, s_n, x) - L_n(t-x, s_n, x) = 0, \quad (3.1d)$$

$$\begin{aligned} A_n((t-x)^2, s_n, x) &= C_n((t-x)^2, s_n, x) - L_n((t-x)^2, s_n, x) \\ &= \frac{n-(s_n-1)^2}{(n+s_n-1)^2} \varphi^2(x) + \frac{(s_n-1)(2s_n-1)}{6(n+s_n-1)^2} - \left[ \frac{s_n-1}{n+s_n-1} \left(\frac{1}{2} - x\right) \right]^2 \\ &= \frac{1}{(n+s_n-1)^2} \left[ n\varphi^2(x) + \frac{s_n^2-1}{12} \right] \\ &\leq \frac{1}{n^2} [n\varphi^2(x) + C] \leq \frac{C}{n} \delta_n^2(x). \end{aligned} \quad (3.1e)$$

Since

$$\omega_{\varphi^\lambda}^2(f, t) \sim \bar{K}_{\varphi^\lambda}^2(f, t^2)$$

in the definition of  $\bar{K}_{\varphi^\lambda}^2$ , we can choose  $g \in D_\lambda^2$  such that

$$\|f-g\| + \left(\frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}}\right)^2 \|\varphi^{2\lambda} g''\| + \left(\frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}}\right)^{\frac{4}{2-\lambda}} \|g''\| \leq C\omega_{\varphi^\lambda}^2\left(f, \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}}\right). \quad (3.2)$$

Using this  $g$ , we get

$$|A_n(f, s_n, x) - f(x)| \leq C\|f-g\| + |A_n(g, s_n, x) - g(x)|. \quad (3.3)$$

In view of (3.1d), Lemma 2.5 and

$$g(t) = g(x) + g'(x)(t-x) + \int_x^t g''(u)(t-u)du,$$

it is followed that

$$\begin{aligned}
 |A_n(g, s_n, x) - g(x)| &= \left| A_n \left( \int_x^t g''(u) (t-u) du, x \right) \right| \leq \|\delta_n^{2\lambda} g''\| \left| A_n \left( \int_x^t \frac{t-u}{\delta_n^{2\lambda}(u)} du, x \right) \right| \\
 &\leq C \|\delta_n^{2\lambda} g''\| \left| A_n \left( \frac{(t-x)^2}{\delta_n^{2\lambda}(x)}, x \right) \right| \leq C \|\delta_n^{2\lambda} g''\| \frac{\delta_n^{2-2\lambda}(x)}{n} \\
 &\leq C \|\varphi^{2\lambda} g''\| \frac{\delta_n^{2-2\lambda}(x)}{n} + C \|g''\| \frac{\delta_n^{2-2\lambda}(x)}{n^{1+\lambda}} \\
 &\leq C \|\varphi^{2\lambda} g''\| \left( \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}} \right)^2 + C \|g''\| \left( \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}} \right)^{\frac{4}{2-\lambda}}, \tag{3.4}
 \end{aligned}$$

the reason of the last inequality in (3.4) is that

$$\begin{aligned}
 \left( \frac{\delta_n^{2-2\lambda}(x)}{n^{1+\lambda}} \right)^{1-\frac{\lambda}{2}} &\leq C \left( \frac{\varphi(x)n^{-\frac{1+\lambda}{2}}}{\varphi^\lambda(x)} + \frac{1}{n} \right)^{2-\lambda} = C \left( \frac{\varphi(x)n^{-\frac{1}{2}}}{\varphi^\lambda(x)} + \frac{1}{n^{1-\frac{\lambda}{2}}} \right)^2 \left( \frac{\varphi(x)n^{-\frac{1-\lambda}{2}}}{\varphi^\lambda(x)} + 1 \right)^{-\lambda} \\
 &\leq C \left( \frac{\varphi(x)n^{-\frac{1}{2}}}{\varphi^\lambda(x)} + \frac{1}{n^{1-\frac{\lambda}{2}}} \right)^2,
 \end{aligned}$$

that is

$$\frac{\delta_n^{2-2\lambda}(x)}{n^{1+\lambda}} \leq \left( \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}} \right)^{\frac{4}{2-\lambda}}.$$

Hence, with (3.1c), (3.2), (3.3) and (3.4), we complete the proof of Theorem 3.1. □

**Theorem 3.2.** For  $0 < \alpha < 2, 0 \leq \lambda \leq 1$ , we have

$$\omega_{\varphi^\lambda}^2(f, t) = \mathcal{O}(t^\alpha) \implies |C_n(f, s_n, x) - f(x)| = \mathcal{O} \left( \left( \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}} \right)^\alpha \right). \tag{3.5}$$

*Proof.* By Lemma 2.1 and  $\omega_{\varphi^\lambda}^2(f, t) = \mathcal{O}(t^\alpha)$ , we get

$$\omega_1 \left( f, \frac{1}{n} \right) \leq C \left( \frac{1}{n} \right)^{\alpha(1-\frac{\lambda}{2})} \leq C (n^{-\frac{1}{2}} n^{\frac{\lambda-1}{2}})^\alpha \leq C (n^{-\frac{1}{2}} \delta_n^{1-\lambda})^\alpha,$$

again by Theorem 3.1, (3.5) follows. □

**Theorem 3.3.** For  $0 < \alpha < 2, 0 \leq \lambda \leq 1, f(x) \in C[0,1]$ , we have

$$|C_n(f, s_n, x) - f(x)| = \mathcal{O} \left( \left( \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}} \right)^\alpha \right) \implies \omega_{\varphi^\lambda}^2(f, t) = \mathcal{O}(t^\alpha).$$

*Proof.* We know that  $\varphi^{\alpha(1-\lambda)}(x)$  is convex on I, so for  $t\varphi^\lambda(x) < x$ , we have

$$\delta_n^{\alpha(1-\lambda)}(x + t\varphi^\lambda(x)) + \delta_n^{\alpha(1-\lambda)}(x - t\varphi^\lambda(x)) \leq 2\delta_n^{\alpha(1-\lambda)}(x).$$

Since

$$|C_n(f, s_n, x) - f(x)| = \mathcal{O}\left(\left(\frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}}\right)^\alpha\right),$$

for each  $n$  ( $n > 2$ ), it holds that

$$\begin{aligned} |\Delta_{t\varphi^\lambda}^2 f(x)| &\leq |\Delta_{t\varphi^\lambda}^2 (C_n(f, s_n, x) - f(x))| + |\Delta_{t\varphi^\lambda}^2 C_n(f, s_n, x)| \\ &\leq C\left(\frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}}\right)^\alpha + |\Delta_{t\varphi^\lambda}^2 C_n(f, s_n, x)|. \end{aligned}$$

Choose  $g$  as in (3.2), by Lemma 2.2, 2.3 and 2.4, we have

$$\begin{aligned} |\Delta_{t\varphi^\lambda}^2 C_n(f, s_n, x)| &= \left| \iint_{-\frac{t\varphi^\lambda(x)}{2}}^{\frac{t\varphi^\lambda(x)}{2}} C_n''(f, s_n, x + u_1 + u_2) du_1 du_2 \right| \\ &\leq \left| \iint_{-\frac{t\varphi^\lambda(x)}{2}}^{\frac{t\varphi^\lambda(x)}{2}} C_n''(f - g, s_n, x + u_1 + u_2) du_1 du_2 \right| \\ &\quad + \left| \iint_{-\frac{t\varphi^\lambda(x)}{2}}^{\frac{t\varphi^\lambda(x)}{2}} C_n''(g, s_n, x + u_1 + u_2) du_1 du_2 \right| \\ &\leq Cn \|f - g\| \left| \iint_{-\frac{t\varphi^\lambda(x)}{2}}^{\frac{t\varphi^\lambda(x)}{2}} \varphi^{-2}(x + u_1 + u_2) du_1 du_2 \right| \\ &\quad + C \|\varphi^{2\lambda} g''\| \left| \iint_{-\frac{t\varphi^\lambda(x)}{2}}^{\frac{t\varphi^\lambda(x)}{2}} \varphi^{-2\lambda}(x + u_1 + u_2) du_1 du_2 \right| \\ &\leq Cn \|f - g\| t^2 \varphi^{2(\lambda-1)}(x) + Ct^2 \|\varphi^{2\lambda} g''\| \\ &\leq C \|f - g\| t^2 [n^{-\frac{1}{2}} \delta_n^{1-\lambda}(x)]^{-2} + Ct^2 \|\varphi^{2\lambda} g''\| \\ &\leq Ct^2 [n^{-\frac{1}{2}} \delta_n^{1-\lambda}(x)]^{-2} \omega_{\varphi^\lambda}^2\left(f, \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}}\right). \end{aligned}$$

So now we come to

$$|\Delta_{t\varphi^\lambda}^2 f(x)| \leq C\left(\frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}}\right)^\alpha + Ct^2 [n^{-\frac{1}{2}} \delta_n^{1-\lambda}(x)]^{-2} \omega_{\varphi^\lambda}^2\left(f, \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}}\right).$$

For each fixed  $h$  ( $0 < h < 1/16$ ) and each  $x \geq t$ , we can choose  $n$  such that

$$\frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}} \leq h < 2 \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}},$$

then it follows that

$$|\Delta_{t\varphi^\lambda}^2 f(x)| \leq C\left(h^\alpha + \left(\frac{t}{h}\right)^2 \omega_{\varphi^\lambda}^2(f, h)\right),$$



that is

$$\omega_{\varphi^\lambda}^2(f, t) \leq C \left( h^\alpha + \left( \frac{t}{h} \right)^2 \omega_{\varphi^\lambda}^2(f, h) \right).$$

Finally by Berens-Lorentz Lemma, we can complete the proof of Theorem 3.3.

□

## Acknowledgments

The author is Supported by the Natural Science Foundation of China (No. 11271263, 11371258).

## References

- [1] Jiading Cao, A generalization of Bernstein polynomials, *J. Math. Anal. Appl.*, 209 (1997), 140–146.
- [2] Z. Ditzian, Direct estimate for Bernstein polynomials, *J. Approx. Theory*, 79 (1994), 165–166.
- [3] Zhiming Wang, Cuixiang Li and Qiulan Qi, The pointwise results about approximation by Bernstein Operator, *Journal of Hebei Normal University (Nat. Sci.)*, 22(3) (1998), 289–291.
- [4] Z. Ditzian and V. Totik, *Modulus of Smoothness*, Springer-Verlag, New York, 1987.
- [5] Shunsheng Guo, Cuixiang Li and Xiwu Liu, The pointwise estimate for Szasz-Durrmeyer operators (Chinese), *Journal of Central China Normal University (Nat. Sci.)*, 35(1) (2001), 18–20.
- [6] Hongbiao Jiang and Linsen Xie, Pointwise simultaneous approximation of Bernstein operator, *Appl. Math.*, 25(3) (2010), 351–358.